Setup: 6 violins, 2 violas, 3 cellos, 1 contrabass

The collection involves 12 pieces of 5:50 minutes each. Players enter in intervals of 10 seconds. The individual
times of entry and exit are indicated for each part.

Each of two measures must be repeated for one minute, then the whole sequence repeats. During the process
of repetition the indicated changes must be performed gradually.

Players must agree on a basic tempo for each piece (J = J .= l.), in relation to which accelerations (acc) and
decelerations (rit) must be performed, always targeting the value indicated in the following measure. All
pulsations (tremolos) must be performed in actual values.

An arrow on a note-stem indicates a gradual alteration of pitch, to be executed, with every couple of turns, in as
small as possible steps, starting from the recorded note, adding up to the value indicated in the other measure.

Dynamic indications p and f are relative; the ensemble has to figure out an allover dynamic level for each piece;
fade marks refer to the whole cycle of repetitions.

Arrows attached to the timbre indications denote transitions: from sul tasto (st) via ordinario (ord) to sul
ponticello (sp); in the 2nd turn, the process reverses (from sp, via ord, to st); the reverse arrow above the sp
indication is to remind you.

In VIIt and IX, tic on an accidental indicates a deviation by a 6th tone in the direction indicated.

In 1 1LV, VI, IX, X, XII, slurred notes must be executed on two strings, in one bowing; change bowing with each
turn (in I, the bowchange always splits the note).

Nikolaus Gerszewski OM196.022
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